		Budget	Detail and I	Forecast				
Bue	dget Account: EOPS/CAR	E/CalWORKs and FFYSI - Barra	ales-Ramirez, Loi	raine		Account Numbe	r: 30100	
	GL Code: ITech Info	rmation Technology (computer,	laptop, printer, etc	c.)		Budget Amun	t: \$21,180	
Priority	Description	Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
)17-2018 (Year	r One) Enhanced							
High	laptops	15	\$1,412	\$21,180	0	\$0	\$0	Yes
	Justification: We	currently have 15 laptops and th	neir are 335 stude	ents in EOPS.	The demand for	r borrowing the lap	tops is high ea	ach semester.
	Per	IT's quote Latitude 7480 i5 with	Dell Adapter US	B-C to VGA and	d Dell Professio	nal Briefcase 14		
	Remarks: No I	Data to Display						
		Total (Year One)	Enhanced Cost	\$21,180			\$0	,
		Total (Year One) Cost	\$21,180			\$0	

Bu	dget Account: EOPS/CARE/CalWORI	Ks and FFYSI - Barr	ales-Ramirez, Loi	raine		Account Numbe	r: 30100	
	GL Code: NIPers Non-instruction	nal Personnel				Budget Amun		
Priority	Description	Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
017-2018 (Year	r One) Enhanced							
High	EOPS Summer Counseling	1	\$10,000	\$10,000	0	\$0	\$0	No
	Justification: The above is an	n estimation of how	much it may cost	to cover counse	ling during the	summer.		
	Remarks: No Data to Displa	ау						
		Total (Year One)	Enhanced Cost	\$10,000			\$0	
		Total	(Year One) Cost	\$10,000			\$0	

Bu	dget Account: EOPS/	CARE/CalWORKs an	d FFYSI - Barr	ales-Ramirez, Loi	raine		Account Numbe	r: 30100	
	GL Code: Other	Other					Budget Amun	t: \$98,809	
Priority	Description		Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
)17-2018 (Yeai	^r One) Enhanced								
High	Caluclators		30	\$175	\$5,250	0	\$0	\$0	Yes
	Justification:	We currently have 7 Quote was provided			ts. We clearly d	o not have end	ough to loan out to	students.	
	Remarks:	No Data to Display							
Medium	Pulse Pens and No	tebooks	25	\$192	\$4,800	0	\$0	\$0	Yes
	Justification:	We no longer have a they have them avail was provided by the	lable. Howeve						
	Remarks:	No Data to Display							
Medium	Flash Drives 32G		100	\$39	\$3,900	0	\$0	\$0	Yes
	Justification:	Many students still u this. Quote was prov			ework and assig	gnments. Every	v semester we have	e students wh	o request
	Remarks:	No Data to Display							
Medium	Digital Recorders		25	\$42	\$1,050	0	\$0	\$0	Yes
	Justification:	We only have 1 digit replace the old ones students who also fir	that no longer	work. Students w	ho are in DRC a	are able to get			
	Remarks:	No Data to Display							
High	Transprotation Cost	ts	1	\$25,000	\$25,000	0	\$0	\$0	No
	Justification:	Provide transportation	on costs (bus pa	asses and parking	g permits)				
	Remarks:	No Data to Display							
Medium	Mental Health Peer	Mentorship	1	\$58,809	\$58,809	0	\$0	\$0	No
	Justification:	Please attached prop	oosal.						
		No Data to Display							
		Tot	tal (Year One)	Enhanced Cost	\$98,809			\$0	
			Total	(Year One) Cost	\$98,809			\$0	

Budget Account: Library - Lead Faculty & Staff, Library & Learning Resources

GL Code: Equipm Equipment (Items over \$5,000)

Account Number: 24020

Budget Amunt: \$18,204

Priority	Description		Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
2017-2018 (Year	One) Enhanced								
High	KIC Bookeye 4 Boo copying device	ok scanning and	1	\$13,464	\$13,464	0	\$0	\$0	No
	Justification:	Textbook costs are students, many can This machine is spe sections of textbook desktop scanner, cu demand by more tha	not qualify for p cifically designers, reducing cos utting the time it	rograms and are ed to allow quick a t for students. Thi takes to scan a s	eft to fend for th and easy scannin s machine will m ection of a textb	emselves. ng of books. St nake it much qu ook. Our currer	udents and faculty iicker and less cur nt scanner is very	will be able to nbersome tha popular and o	o scan n a regular
		Students who haver benefit greatly from	this scanner. T	his device is used	at the Skyline C	College Library	and is one of their	most popular	services.
		There are a few diffe Click Mini Wide Star			lesting either the	e KIC Bookeye	4 V3 WITH K-Cabin	et (\$13,464) (or the KIC
		Cost for equipment Mini	and first year a	nnual maintenanc	e agreement* is	about \$1,309.0	00/yr. for KIC Book	eye or \$824/y	vr. for KIC
		Vendor: Image Acce	ess						
	Remarks:	No Data to Display							

Priority	Description	Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
2017-2018 (Year	One) Enhanced							
High	Mobile WiFi Routers	10	\$474	\$4,740	0	\$0	\$0	No
	gro in nor only http The rou The Ony	ere are many students on campu wn over time it is still beyond the 10) only have access to the inter whites and lower-income peop y have access to the internet thr y/www.pewinternet.org/fact-she ese mobile WiFi Routers will ena ters as part of the TLC program ters. We also check out Chrome e price listed includes the month going hdor: Verizon	e reach for many. rnet through their le. Twenty-three p ough their phone eet/internet-broadb able students to ge . We are planning abooks or Dell Lap	According to the smartphones. T ercent of Hispa band/ et access to the on ending the T tops with the ro	e Pew Research his situation is o nic adults and 2 internet from ar 'LC program the uters.	h Center 12% of a especially commo 21% of adults who hywhere. We are o is year and will no	dults in the Uin among your make less the currently chec	nited States (1 nger adults, an \$30,000 king out 7
	Remarks: No	Data to Display						
		Total (Year One)	Enhanced Cost	\$18,204			\$0	
		Total	(Year One) Cost	\$18,204			\$0	

Bu	Idget Account: Library - L	ead Faculty & Staf	t, Library & Lea	arning Resources			Account Numbe	er: 24020	
	GL Code: SubMbr	Subscriptions or Me	emberships				Budget Amun	nt: \$15,000	
Priority	Description		Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroo
-2018 (Yea	r One) Enhanced								
High	Kanopy		1	\$3,000	\$3,000	0	\$0	\$0	No
	with Wa En off Ho inc Wa tria Bu the Ma or D\ If v on ca	e would like to be a th PLS, it is much o glish and anthropo erings are very pop wever, this collecti cludes documentari e have already bee al subscriptions tha urlingame Library, N e San Mateo Count any students have to do not have acces /Ds has physical an we opt out of sharin e in the future. Also rds will be able to a	cheaper than if rease demand ology) use vide oular, students ion does not in ies that Films of the City of Sa Menlo Park Lib ty Libraries an trouble watchin s to a DVD or nd financial lin o, since not all	we had our own from faculty and toos in their classes is viewed films and include many interr on Demand does faculty and stude an Mateo and Sar faculty an Sar faculty	subscription. students for stress and many stud clips from our of national films (point not. Some of the ents to films avain Mateo County library, and sout those libraries we ecause they are odern laptops d	eaming video. I dents like to use opther database opular for Spar ese documenta ilable on Kanop Libraries curre th San Francise vould not be ab unable to take lo not come wit	Many faculty (notal e videos when doir , Films on Demanc nish classes) nor na aries are used in cl by that they need fo ntly have. Note, R co Library are not co le to access Kano time to stay on ca h DVD slots). Furt	bly history, Sp ng research. G I 2,903 times arrative films. asses on carr or their course edwood City, city libraries a py. mpus beyond hermore, our we ever decid	eanish, art, Dur current n 2017. Kanopy al- pus. es through Daly City, nd not und their class collection of e to purcha
	Demerker No	Data ta Dianlau							
	Remarks: NO	Data to Display							
High	EBSCO Discovery Sea			\$12,000	\$12,000	0	\$0	\$0	No

2017-2018 (Year One) Enhanced

Justification: Justification:

EBSCO Discovery Search, which we brand Super Search, is an aggregated search engine that allows students to search almost all the library databases, our eBook collection, and our catalog at once.

The use of this service has been consistently high. Students used it 7,201 in 2013, 9,694 times in 2014, 8,516 times in 2015, 10,108 times in 2016, and 12,426 in 2017. We expect these numbers to continue to rise as Super Search is the most intuitive database resource at our disposal. This is a critical resource that has been paid for by the A2B grant until Dec. 2018 when our subscription will be up for review.

We are currently pursuing a district subscription with Skyline and CSM, which will reduce the cost of the resource for all three colleges. Skyline already has a subscription to EBSCO Discovery, and CSM wants to replace their current service with Discovery. If we do not subscribe together it will cost the district much more money.

We conducted two student focus groups to assess Super Search in spring 2015. Students expressed the importance of EBSCO Discovery Search to their academic success and that faculty will suggest students use Super Search to do research:

"I think it's important every teacher that had a research project lately had told me to use that."

"I would say that's it's fast, easy, and you find a lot of trusted articles and, and it's just easier for students to find it than searching Google. For academic it increases, so it's much easier."

"I think it's just laid out in a way so you don't have to go search through different tabs. To go and actually try and refine your results it's all there for you. Along with the organization of everything is really helpful and nice. So I don't have to go to all this extra effort to get just one article."

"Like I said, with me it helped me out a great deal and a lot of the other students within my personal class, we actually all got through a group and we all were kinda all helping each other with different topics and showing them how to do it, so it helped with the research paper big time."

"It's your very first official resourceful database that doesn't give infinite amount of non-academic articles. So not only are they introduced to something so simple and straightforward, but it also gives them their own room to explore and refine before going to ask a librarian."

Since this is a Google-like search bar it provides students an automatic level of understanding and comfort, whereas finding our list of databases and having to choose one or more is 1) more work; 2) less effective for inexperienced researchers, 3) limits access to resources and runs a greater risk of students using inappropriate assets, and 4) is much more time consuming.

Aggregated search services have become a standard in academic libraries, as much as online library catalogs did decades ago. Without this service we will be taking a step back in the quality and amount of resources and services for students and faculty. Students will have greater difficulty conducting research and completing assignments.

Ongoing funds

This cost is for a single subscription. A shared subscription will be less. As of the date of this report we have not gotten an estimate yet.

Priority	Description		Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
2017-2018 (Year	^r One) Enhanced								
	Remarks:	No Data to Display							
		Tot	al (Year One)	Enhanced Cost	\$15,000			\$0	
			Total	(Year One) Cost	\$15,000			\$0	

GL Code: Supply Supplies (Items less than \$5,000) Budget Amunt: \$2,252 Requested Requested Requested Approved Approved Cost Approved Quantity **Cost Per Item Total Cost** Quantity **Total Cost** Priority Description Per Item Classroom 2017-2018 (Year One) Enhanced \$0 Medium Flat Screen, wall mount, smart TV 1 \$350 \$350 0 \$0 No Justification: Samsung UN40J6200 40-Inch 1080p Smart LED TV From Amazon We had two broken TVs in our group study rooms. Students need to be able to watch assigned videos (DVD and streaming) as a group. A flat screen TV with Wi-Fi capabilities will allow students to stream videos and give them more flexibility in completing assignments. A TV in one of the group study rooms will allow students to complete viewing assignments as a group, reducing the demand on physical resources such as DVDs and allowing students to discuss the films and finish group work together. This supports the college's goal of committing to student completion and investing in flexible learning systems. Modern laptops do not come with DVD drives. Remarks: No Data to Display \$22 \$22 Medium 0 \$0 \$0 Mounting hardware for flat screen TV 1 No Justification: Mounting hardware for flat screen TV. A TV in one of the group study rooms will allow students to complete viewing assignments as a group, reducing the demand on physical resources such as DVDs and allowing students to discuss the films and finish group work together. This supports the college's goal of committing to student completion and investing in flexible learning systems. Modern laptops do not come with DVD drives.

Remarks: No Data to Display

Budget Account: Library - Lead Faculty & Staff, Library & Learning Resources

Account Number: 24020

Priority	Description		Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
017-2018 (Yea	r One) Enhanced								
Medium	Blu-ray/DVD player		1	\$90	\$90	0	\$0	\$0	No
	Justification:	Sony BDPS3500 Wi- From Amazon	Fi Streaming I	Blu-ray Player with	Remote Contro	bl			
		Allows students to warmore popular, there a							is more and
		A Blu-ray players is r resources such as D goal of committing to	VDs and allow student comp	ing students to dis letion and investin	scuss the films a	nd finish group			
		Modern laptops do n	ot come with D	VD drives.					
	Remarks:	No Data to Display							
Medium	Floating shelf		1	\$14	\$14	0	\$0	\$0	No
	Justification:	WALI Floating Shelf Shelf, Black From Amazon A simple and adjusta	Ū	·		yers/Cable Box	es/Games Conso	les/TV Acces	sories, 1
		Modern laptops do n	ot come with D	VD drives.					
	Remarks:	No Data to Display							
High	HP 305A 3-pack Cy Original LaserJet To CF370AM	van/Magenta/Yellow oner Cartridges,	3	\$356	\$1,068	0	\$0	\$0	No
	Justification:	Our yearly supply bu discoloration, streaks correctly can negativ Having discoloration	s, and other iss ely affect their	sues. Students use assignments.We	e our color printe also use the color	er for assignme or printer for ou	nts and studying, Ir own marketing a	not being able	e to print
		From HP							
		No Data to Display							
Medium	Original Xerox 113F	R00608 Drum Unit	2	\$354	\$708	0	\$0	\$0	No

Priority	Description	Reques Quant	•	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
2017-2018 (Yea	ar One) Enhanced							
	Justification:	Our yearly supply budget doe materials, making copies for s			rox toner. This	is our main printe	r. We use it fo	r instructional
		It is shared with other offices of	on the third floor of buil	ding nine who ne	eed to make lar	ge quantities of p	rints.	
		https://www.4inkjets.com/Xerc	x-WorkCentre-238-pri	nter-ink-cartridge	es-toner			
	Remarks:	No Data to Display						
		Total (Year	One) Enhanced Cost	\$2,252			\$0	
		1	otal (Year One) Cost	\$2,252			\$0	

Bu	dget Account: Art - Lead Faculty, Art a	nd Art History				Account Numbe	r: 22020	
	GL Code: Facili Facilities					Budget Amun	t: \$2	
Priority	Description	Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
2017-2018 (Yea	r One) Enhanced							
High	Clear and clean 3-261	1	\$1	\$1	0	\$0	\$0	No
	Justification: Clear and clean	former darkroom, 3	3-261.					
	Remarks: No Data to Display	y						
High	Storage racks and or shelves.	1	\$1	\$1	0	\$0	\$0	No
	Justification: Most likely these	e will need to be co	nstructed by facilit	ties				
	Remarks: No Data to Display	у						
		Total (Year One)	Enhanced Cost	\$2			\$0	
		Total	(Year One) Cost	\$2			\$0	

Budget Account: Athletics, Kinesiology, & Dance - Lead Faculty, Athletics, Kin., & Dance

Account Number: 24030

GL Code: SubMbr Subscriptions or Memberships

Budget Amunt: \$1,958

Priority	Description	Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroor
2018 (Year	[·] One) Enhanced							
High	Spotify music subscription	1	\$120	\$120	0	\$0	\$0	No
	used by multip	nt is trying to move a le fitness courses. Ana Miladinova	way from usage o	f CDs and we w	ould like a goo	d variety of music.	The subscript	ion could b
Lliab	·	•	¢074	ФЕ 4 Q	0	\$0	\$0	No
High	NATA Membership Dues Justification: National Athlet	2	\$274	\$548	0	Ф О	\$ 0	No
		aining staff uses this						
	continuing edu statuses. This	in the sports medicir location units (CEUs), reduces the amount Cindy Jimenez and	of which each ath of professional de	letic trainer mus	st obtain 50 uni	ts in order to rema		
	continuing edu statuses. This	reduces the amount Cindy Jimenez and	of which each ath of professional de	letic trainer mus	st obtain 50 uni	ts in order to rema		
High	continuing edu statuses. This Requested by	reduces the amount Cindy Jimenez and <i>r</i> lay	of which each ath of professional de	letic trainer mus	st obtain 50 uni	ts in order to rema		
High	continuing edu statuses. This Requested by Remarks: No Data to Disp Volt Strength Training Program Tea Subscription Justification: Volt Athletics https://www.vo Conditioning pr can use the ap own (when we smartphones, recorded and m master schedu	acation units (CEUs), reduces the amount Cindy Jimenez and A lay am 1 oftathletics.com/volt-for oftware/app program ograms for our athle op when we are doing aren't allowed to wo which they then use reported to me, and t ile which is fed to all oful to fill the void in e	of which each ath of professional de Ashley Peltz \$1,000 or-teams/#volt-for- b. Year long subscr tes customized by g workouts togeth ork with athletes). during their worko they keep their rec the athletes. Since	steams-logos cription, beginnir volt staff to acc volt staff to acc volt designs a v outs to log reps a cords and progra	of obtain 50 units requested y to of the second of the sec	ts in order to rema he staff members. \$0 and basically create season and off-se as pre and off seas n, and distributes i mes between sets art phones. I can a artmental strength	son out of clas to the athlete All their work adjust the wor and condition	their job No trength an e. Athlete s on their es over the outs get kouts on r

Priority	Description	Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
2017-2018 (Yea	r One) Enhanced							
High	Sports Business Daily Journal	1	\$290	\$290	0	\$0	\$0	No
	49 issues a ye Weekly in-dep	ortsbusinessdaily.com ar featuring comprehe th reports on key indus access to SBJ's webs Mike Garcia	nsive and origina stry segments. O					
		Total (Year One) E	Enhanced Cost	\$1,958			\$0	
		Total (Y	(ear One) Cost	\$1,958			\$0	

Budget Account: Athletics, Kinesiology, & Dance - Lead Faculty, Athletics, Kin., & Dance

GL Code: Supply Supplies (Items less than \$5,000)

Account Number: 24030

Budget Amunt: \$30,846

	CE COUC. Cuppiy Cuppies (item		Dudget Annunt. 400,040										
Priority	Description	Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroon					
2018 (Yea	^r One) Enhanced												
High	Ruck Sled w/ Shoulder Harness and Drag Strap	d 5	\$177	\$885	0	\$0	\$0	No					
		(https://www.medco- t can be used for all				ng.							
	Remarks: No Data to Displ	ay											
High	TRX Ultimate Training Bundle	10	\$330	\$3,300	0	\$0	\$0	No					
	In order to offe												
	Remarks: No Data to Displ	ay											
High	Nike Academy Team Backpack	30	\$35	\$1,050	0	\$0	\$0	Yes					
	it would be greated way for transport	cer Program current at if we could purcha orting and keeping u game day travel.	ase these from eq	uipment request	t fund on an anr	nual basis. Studen	its use the bad	ckpack as a					
	Remarks: No Data to Displ	ау											
High	Canon G40 HD Video Camera	1	\$1,100	\$1,100	0	\$0	\$0	No					
	provided stude	onent to the men's s nt and coaches with nt use of this compo	visual feedback a	and is a staple in	n our teaching n	nethodology. An u	pdated camer						
	Remarks: No Data to Displ	•											

Priority	Description		Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
17-2018 (Year	One) Enhanced								
Medium	Soccer Field Game N	Vets	1	\$270	\$270	0	\$0	\$0	Yes
	<u>-</u>	Kwik Goal tem# 3B15 The weather, collegia Requested by Erik G		ear, along with rer	itals make it so v	we need to rep	lace game nets.		
	Remarks: 1	No Data to Display							
High	Glassless Rolling Mir	rror (4x8)	1	\$645	\$645	0	\$0	\$0	No
	 [r	GTECH FITNESS (tem number unknow Due to high number on no mounted mirrors s Requested by Ana M	of students in o so we need a p		uld need one po	ortable mirror. 7	The theater that we	e teach dance	classes has
	Remarks:	No Data to Display							
High	Glassless Rolling Mir	rror (4x8)	1	\$645	\$645	0	\$0	\$0	No
	 [r	GTECH FITNESS tem number unknow Due to high number on no mounted mirrors s Requested by Ana M	of students in o so we need a p		uld need one po	ortable mirror. 7	The theater that we	e teach dance	classes has
	Remarks:	No Data to Display							
High	Practice jerseys		24	\$23	\$552	0	\$0	\$0	No
	F	Epic Sports Item# E23673 Practice jerseys in te discipline with all play Requested by Chris	yers wearing C					notes team ur	ity and
	Remarks:	No Data to Display							
High	Body-Solid Lifting Ba	inds	10	\$37	\$370	0	\$0	\$0	No
	l /	Medco Athletics (tem# 243888 Additional bands to ir Requested by Cindy		nent for fitness cla	asses, injury reh	abilitation, and	athletic weight tra	ining.	
	Remarks:	No Data to Display							

Priority	Description		equested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
017-2018 (Year	One) Enhanced								
Medium	Yoga blankets		15	\$17	\$255	0	\$0	\$0	No
	Justification:	https://www.yogaaccess We currently have 25 bla Requested by Ana Milac	ankets. Cla				plankets to serve a	all the student	5.
	Remarks:	No Data to Display							
High	Yoga blocks		20	\$9	\$180	0	\$0	\$0	No
	Justification:	https://www.pilates.com/ We currently have 20 blo Requested by Ana Milac	ocks. Class				ocks to serve all th	e students.	
	Remarks:	No Data to Display							
High	Sand bags, 8lbs		5	\$25	\$125	0	\$0	\$0	No
		SPRI or Perform Better Fitness courses are taug Athletic department and good workout plan that f Requested by Ana Milac	the loss of its a variety	a fitness center. I	n order to serve	the students (c			
	Remarks:	No Data to Display							
High	Sand bags, 10lbs		5	\$35	\$175	0	\$0	\$0	No
	Justification:	SPRI or Perform Better	aht in the M						
		Athletic department and good workout plan that f Requested by Ana Milao	the loss of its a variety	a fitness center. I	n order to serve	the students (c	ent in the Theater lass size about 35		
	Remarks:	Athletic department and good workout plan that f	the loss of its a variety	a fitness center. I	n order to serve	the students (c			
High	Remarks: Sand bags, 15lbs	Athletic department and good workout plan that f Requested by Ana Milac	the loss of its a variety	a fitness center. I	n order to serve	the students (c			
High	Sand bags, 15lbs	Athletic department and good workout plan that f Requested by Ana Milac	the loss of its a variety linova 5 ght in the M the loss of its a variety	a fitness center. In of students I will \$43 ain Theater as we a fitness center. In	n order to serve be needing more \$215 II. There is a min n order to serve	the students (c e equipment. 0 nimum equipment the students (c	lass size about 35 \$0 ent in the Theater	students) an \$0 due to our spl	d create a No it with the

2017-2018 (Year One) Enhanced High Exercise resistance loop bands 8 \$19 \$152 0 \$0 \$0 Justification: Power Systems Fitness courses are taught in the Main Theater as well. There is a minimum equipment in the Theater due to our split wit Athletic department and the loss of a fitness center. In order to serve the students (class size about 35 students) and cre good workout plan that fits a variety of students I will be needing more equipment. Requested by Ana Miladinova \$200 \$0 \$0 \$0 High Fitness Gear Rubber Hex 5-25lb 2 \$250 \$500 0 \$0 \$0 \$0 Justification: Dicks Sporting Goods https://www.dickssportinggoods.com/p/fitness-gear-rubber-hex-5-25-lb-dumbbell- set-16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeutgrbnhx150/dmb/16fgeut	Priority	Description		Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
Justification: Power Systems https://www.power-systems.com/shop/product/versa-loops Fitness courses are taught in the Main Theater as well. There is a minimum equipment in the Theater due to our split wit Athletic department and the loss of a fitness center. In order to serve the students (class size about 35 students) and cre good workout plan that fits a variety of students I will be needing more equipment. Requested by Ana Miladinova Remarks: No Data to Display High Fitness Gear Rubber Hex 5-25lb 2 \$250 \$500 0 \$0 \$0 Justification: Dicks Sporting Goods https://www.dickssportinggoods.com/p/fitness-gear-rubber-hex-5-25-lb-dumbbell- set-16fgeufgrbrhx150ldmb/16fgeufgrbrhx150ldmb/2recid=Product_PageElement_product_rr_2_3488_Brec=true Fitness courses are taught in the Main Theater as well. There is a minimum equipment in the Theater due to our split wit Athletic department and the loss of a fitness center. In order to serve the students (class size about 35 students) and cre good workout plan that fits a variety of students I will be needing more equipment. Requested by Ana Miladinova Remarks: No Data to Display 10 \$7 \$70 0 \$0 \$0 High Jump ropes 10 \$7 \$70 0 \$0 \$0 High Jump ropes 10 \$7 \$70 0 \$0 \$0 High Jump ropes 10 \$7 \$70 <td< td=""><td>7-2018 (Year (</td><th>One) Enhanced</th><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></td<>	7-2018 (Year (One) Enhanced								
https://www.gover-systems.com/shop/product/versa-loops Fitness courses are taught in the Main Theater as well. There is a minimum equipment in the Theater due to our split wit Athletic department and the loss of a fitness center. In order to serve the students (class size about 35 students) and cre good workout plan that fits a variety of students I will be needing more equipment. Remarks: No Data to Display High Fitness Gear Rubber Hex 5-25lb 2 \$250 \$500 0 \$0 \$0 Justification: Dicks Sporting Goods bitto Spear-rubber-hex-5-25-Ib-dumbbell-set-forgoutct_rr_2_3488_&strec=true Fitness Cear Rubber bitto Spear about 35 students) and cre good workout plan that fits a variety of students I will be needing more equipment. Remarks: No Data to Display 2 \$250 \$500 0 \$0 \$0 Justification: Dicks Sporting Goods bitty://www.dickssportinggoods.com/p/fitness-gear-rubber-hex-5-25-Ib-dumbbell-set-forgoutgrowth 35 students) and cre good workout plan that fits a variety of students I will be needing more equipment. Remarks: No Data to Display Remarks: No Data to Display 10 \$7 \$70 0 \$0 \$0 Justification: SPRI https://www.spri.com/products/05-58493 Fitness courses are taught in the Main Theeater as well. There is a minimum equipment in the Theater du	High	Exercise resistance	loop bands	8	\$19	\$152	0	\$0	\$0	No
High Fitness Gear Rubber Hex 5-25lb 2 \$250 \$500 0 \$0 \$0 Justification: Dicks Sporting Goods https://www.dickssportinggoods.com/p/fitness-gear-rubber-hex-5-25-lb-dumbbell-set-16/geu/grbrhx150/dmb/16/geu/grbrhx150/dmb/?recid=Product_PageElement_product_rr_2_3488_&rrec=true Fitness courses are taught in the Main Theater as well. There is a minimum equipment in the Theater due to our split wit Athletic department and the loss of a fitness center. In order to serve the students (class size about 35 students) and cre good workout plan that fits a variety of students I will be needing more equipment. Remarks: No Data to Display High Jump ropes 10 \$7 \$70 0 \$0 \$0 High Justification: SPRI https://www.spri.com/products/05-58493 There is a minimum equipment in the Theater due to our split wit Athletic department and the loss of a fitness center. In order to serve the students (class size about 35 students) and cre good workout plan that fits a variety of students I will be needing more equipment. Requested by Ana Miladinova SPRI https://www.spri.com/products/05-58493 students I will be needing more equipment. Site about 35 students) and cre good workout plan that fits a variety of students I will be needing more equipment. Site about 35 students) and cre good workout plan that fits a variety of students I will be needing more equipment. Requested by Ana Miladinova Remarks:			https://www.power-s Fitness courses are Athletic department a good workout plan th	taught in the M and the loss of nat fits a variety	ain Theater as we a fitness center. I	ell. There is a mi n order to serve	the students (c			
Dumbbell Set Justification: Dicks Sporting Goods https://www.dickssportinggoods.com/p/fitness-gear-rubber-hex-5-25-lb-dumbbell-set-16fgeufgrbrhx150ldmb/16fgeufgrbrhx150ldmb/recid=Product_PageElement_product_rr_2_3488_&rrec=true Fitness courses are taught in the Main Theater as well. There is a minimum equipment in the Theater due to our split wit Athletic department and the loss of a fitness center. In order to serve the students (class size about 35 students) and cre good workout plan that fits a variety of students I will be needing more equipment. Requested by Ana Miladinova Remarks: No Data to Display High Jump ropes 10 \$7 \$70 0 \$0 \$0 Justification: SPRI https://www.spri.com/products/05-58493 Fitness courses are taught in the Main Theater as well. There is a minimum equipment in the Theater due to our split with Athletic department and the loss of a fitness center. In order to serve the students (class size about 35 students) and cre good workout plan that fits a variety of students I will be needing more equipment. Requested by Ana Miladinova Remarks: No Data to Display Ithe Main Theater as well. There is a minimum equipment in the Theater due to our split with Athletic department and the loss of a fitness center. In order to serve the students (class size about 35 students) and cre good workout plan that fits a variety of students I will be needing more equipment. Requested by Ana Miladinova Remarks: No Data to Display High Braided speed cord 7 \$42 \$294 0 \$0		Remarks:	No Data to Display							
https://www.dickssportinggoods.com/p/fitness-gear-rubber-hex-5-25-lb-dumbbell-set-16fgeufgrbrhx150ldmb/16fgeufgrbrhx150ldmb?recid=Product_PageElement_product_rr_2_3488_krrec=true kithes: courses are taught in the Main Theater as well. There is a minimum equipment in the Theater due to our split wit Athletic department and the loss of a fitness center. In order to serve the students (class size about 35 students) and cregood workout plan that fits a variety of students I will be needing more equipment. Remarks: No Data to Display High Jump ropes 10 \$7 \$70 0 \$0 \$0 Justification: SPRI https://www.spri.com/products/05-58493 Fitness center. In order to serve the students (class size about 35 students) and cregood workout plan that fits a variety of students I will be needing more equipment. No Data to Display Mo Data to Display Methetic department and the loss of a fitness center. In order to serve the students (class size about 35 students) and cregood workout plan that fits a variety of students I will be needing more equipment. Remarke: No Data to Display \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 <	High		er Hex 5-25lb	2	\$250	\$500	0	\$0	\$0	No
Justification: SPRI https://www.spri.com/products/05-58493 Fitness courses are taught in the Main Theater as well. There is a minimum equipment in the Theater due to our split wit Athletic department and the loss of a fitness center. In order to serve the students (class size about 35 students) and cre good workout plan that fits a variety of students I will be needing more equipment. Requested by Ana Miladinova Remarks: No Data to Display High Braided speed cord 7 \$42 \$294 0 \$0 \$0 Justification: SPRI			https://www.dicksspo set-16fgeufgrbrhx15 Fitness courses are Athletic department good workout plan th Requested by Ana M	ortinggoods.cor Oldmb/16fgeufg taught in the M and the loss of nat fits a variety	grbrhx150ldmb?re ain Theater as we a fitness center. I	cid=Product_Pa II. There is a mi n order to serve	geElement_pro nimum equipm the students (c	ent in the Theater	due to our sp	
Justification:SPRI https://www.spri.com/products/05-58493 Fitness courses are taught in the Main Theater as well. There is a minimum equipment in the Theater due to our split wit Athletic department and the loss of a fitness center. In order to serve the students (class size about 35 students) and cre good workout plan that fits a variety of students I will be needing more equipment. Requested by Ana MiladinovaRemarks:No Data to DisplayHighBraided speed cord7\$42\$2940\$0\$0Justification:SPRI	High	Jump ropes		10	\$7	\$70	0	\$0	\$0	No
High Braided speed cord 7 \$42 \$294 0 \$0 \$0 Justification: SPRI 5 5 5 5 5 5			https://www.spri.com Fitness courses are Athletic department good workout plan th	taught in the M and the loss of nat fits a variety	ain Theater as we a fitness center. I	n order to serve	the students (c			
Justification: SPRI		Remarks:	No Data to Display							
	High	Braided speed cord		7	\$42	\$294	0	\$0	\$0	No
https://www.spri.com/collections/agility-training/products/07-70168_2 Fitness courses are taught in the Main Theater as well. There is a minimum equipment in the Theater due to our split wit Athletic department and the loss of a fitness center. In order to serve the students (class size about 35 students) and cre good workout plan that fits a variety of students I will be needing more equipment. Requested by Ana Miladinova			https://www.spri.com Fitness courses are Athletic department good workout plan th	taught in the M and the loss of nat fits a variety	ain Theater as we a fitness center. I	ell. There is a mi n order to serve	nimum equipm the students (c			
Remarks: No Data to Display		Remarks:	No Data to Display							
High Tubing green 8 \$16 \$128 0 \$0 \$0	High	Tubing green		8	\$16	\$128	0	\$0	\$0	No

Priority	Description		Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
2017-2018 (Year	r One) Enhanced								
	Justification:	https://www.spri.com/ Fitness courses are ta Athletic department a good workout plan tha Requested by Ana Mi	aught in the Ma nd the loss of at fits a variety	ain Theater as we a fitness center. I	II. There is a min n order to serve	nimum equipme the students (c			
	Remarks:	No Data to Display							
High	Tubing red		7	\$17	\$119	0	\$0	\$0	No
	Justification:	SPRI https://www.spri.com/ Fitness courses are ta Athletic department a good workout plan tha Requested by Ana Mi	aught in the Ma nd the loss of at fits a variety	ain Theater as we a fitness center. I	II. There is a min n order to serve	nimum equipme the students (c			
	Remarks:	No Data to Display							
High	Tubing blue		7	\$18	\$126	0	\$0	\$0	No
	Justification:	SPRI https://www.spri.com/ Fitness courses are ta Athletic department a good workout plan tha Requested by Ana Mi	aught in the Ma nd the loss of at fits a variety	ain Theater as we a fitness center. I	II. There is a min n order to serve	nimum equipme the students (c			
	Remarks:	No Data to Display							
High	Tubing purple		5	\$19	\$95	0	\$0	\$0	No
	Justification:	https://www.spri.com/ Fitness courses are ta Athletic department a good workout plan tha Requested by Ana Mi	aught in the Ma nd the loss of at fits a variety	ain Theater as we a fitness center. I	II. There is a min n order to serve	nimum equipme the students (c			
	Remarks:	No Data to Display							

F	Priority	Description		Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
2017-2	2018 (Year C	ne) Enhanced								
	High	Medicine ball, 6lb		3	\$48	\$144	0	\$0	\$0	No
		Justification:	SPRI https://www.spri.com/c Fitness courses are ta Athletic department an good workout plan tha Requested by Ana Mile	ught in the M d the loss of t fits a variety	ain Theater as we a fitness center. I	ell. There is a mi n order to serve	nimum equipme the students (c	ent in the Theater		
		Remarks:	No Data to Display							
	High	Medicine ball, 8lbs		3	\$58	\$174	0	\$0	\$0	No
		Justification:	https://www.spri.com/c Fitness courses are ta Athletic department an good workout plan tha Requested by Ana Mile	ught in the M d the loss of t fits a variety	ain Theater as we a fitness center. I	ell. There is a mi n order to serve	nimum equipme the students (c	ent in the Theater		
		Remarks:	No Data to Display							
	High	Medicine ball, 10lb		3	\$68	\$204	0	\$0	\$0	No
		Justification: Remarks:	SPRI https://www.spri.com/o Fitness courses are ta Athletic department an good workout plan tha Requested by Ana Mila No Data to Display	ught in the M d the loss of t fits a variety	ain Theater as we a fitness center. I	ell. There is a mi n order to serve	nimum equipme the students (c	ent in the Theater		
	High	Gold's Gym Kettleb		3	\$28	\$84	0	\$0	\$0	No
		Justification:	Walmart https://www.walmart.co wmlspartner=wlpa&ad 9031974&wl6=&wl7=8 Fitness courses are ta Athletic department an good workout plan tha Requested by Ana Mile	om/ip/Gold-s- id=22222222 wl8=&wl9=pl ught in the M id the loss of t fits a variety	Gym-Kettlebell-Ki 227019601011&v a&wl10=8175035 ain Theater as we a fitness center. I	it-5-15-Lbs/2740 vl0=&wl1=g&wl2 &wl11=online&w ell. There is a mi n order to serve	07259? 2=c&wl3=40331 wl12=27407259 nimum equipme the students (c	929232&wl4=pla- &wl13=&veh=sem ent in the Theater	78294014552 1 due to our spl	&wl5= lit with the
		Remarks:	No Data to Display							
	High	Superbands, 3 1/4"		7	\$50	\$350	0	\$0	\$0	No

Priority	Description	Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
)17-2018 (Year	[·] One) Enhanced							
	Fitnes Athle good	rm Better /www.performbetter.com/First ss courses are taught in the N tic department and the loss of workout plan that fits a variety ested by Ana Miladinova	lain Theater as we a fitness center.	ell. There is a min n order to serve	himum equipme the students (c	ent in the Theater		
	Remarks: No Da	ta to Display						
High	Apple Airport Express	1	\$100	\$100	0	\$0	\$0	No
	This o Requ	//www.apple.com/airport-expr device will allow us to stream ested by Ana Miladinova		ss and dance cla	asses without u	sing cable which i	s benefical du	ıring teaching
	Remarks: No Da	ita to Display						
High	Dumbbells, 8lb	4	\$29	\$116	0	\$0	\$0	No
	Athle good Requ	ss courses are taught in the N tic department and the loss of workout plan that fits a variety ested by Ana Miladinova	a fitness center.	n order to serve	the students (c			
	Remarks: No Da	ita to Display						
High	Dumbbells, 12lb	3	\$40	\$120	0	\$0	\$0	No
	Fitnes Athle good	//www.spri.com/products/db_; ss courses are taught in the N tic department and the loss of workout plan that fits a variety ested by Ana Miladinova	lain Theater as we a fitness center.	ell. There is a min n order to serve	the students (c			
	Remarks: No Da	ta to Display						
High	Portable ballet bar, 8ft	1	\$410	\$410	0	\$0	\$0	No
	Need	be //www.vitavibe.com/Extreme- ed for the fall ballet class. We class. ested by Ana Miladinova					ed this one to	support the
	Remarks: No Da	ta to Display						
High	Molten NCAA Volleyballs (blue/gray/white)	12	\$12	\$144	0	\$0	\$0	No

	Description		Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
17-2018 (Year	One) Enhanced								
	Justification:	Epic Sports Item# E4559 Official size. Required adequate supply of wa Requested by Chris T	armup balls fo				home team balls	for official wa	rmups so an
	Remarks:	No Data to Display							
High	Plyometric boxes		1	\$304	\$304	0	\$0	\$0	No
	Justification:	Epic Sports Item# E67400 For use in specific ply athletes stand on to u for various other body Requested by Chris T	se to simulate weight exerc	height above net	and hitting and	blocking techn			
	Remarks:	No Data to Display							
High	Medicine ball, 6-7lb		4	\$23	\$92	0	\$0	\$0	No
	Justification:	Amazon https://www.amazon.c ie=UTF8&qid=148817 With access to gym er CSM during the fall we	/3426&sr=8-1- quipment at C	fkmr1&keywords añada eliminated	=plyo%2Bweigh , and the sharing	ted%2Bleather g of facilities be	%2Bballs%2Bset& tween numerous f	&th=1&psc=1 teams in the v	
		Requested by Chris T						iuning practice	time.
	Remarks:								time.
High	Remarks: Medicine ball, 9-10	Requested by Chris T No Data to Display		\$25	\$100	0	\$0	\$0	time. No
High		Requested by Chris T No Data to Display b	igno 4 com/Champior /3426&sr=8-1- quipment at C e would like to	\$25 n-Sports-Leather- fkmr1&keywords añada eliminated	\$100 Wedicine-Ball/dp =plyo%2Bweigh , and the sharing	0 /B000KYQ70l/ ted%2Bleather g of facilities be	\$0 /ref=sr_1_fkmr1_1 %2Bballs%2Bset& tween numerous f	\$0 ? &th=1&psc=1 teams in the v	No arsity room a
High	Medicine ball, 9-10l Justification:	Requested by Chris T No Data to Display b Amazon https://www.amazon.c ie=UTF8&qid=148817 With access to gym ed CSM during the fall wo	igno 4 com/Champior /3426&sr=8-1- quipment at C e would like to	\$25 n-Sports-Leather- fkmr1&keywords añada eliminated	\$100 Wedicine-Ball/dp =plyo%2Bweigh , and the sharing	0 /B000KYQ70l/ ted%2Bleather g of facilities be	\$0 /ref=sr_1_fkmr1_1 %2Bballs%2Bset& tween numerous f	\$0 ? &th=1&psc=1 teams in the v	No arsity room a
High High	Medicine ball, 9-10l Justification:	Requested by Chris T No Data to Display b Amazon https://www.amazon.c ie=UTF8&qid=148817 With access to gym eu CSM during the fall wo Requested by Chris T No Data to Display	igno 4 com/Champior /3426&sr=8-1- quipment at C e would like to	\$25 n-Sports-Leather- fkmr1&keywords añada eliminated	\$100 Wedicine-Ball/dp =plyo%2Bweigh , and the sharing	0 /B000KYQ70l/ ted%2Bleather g of facilities be	\$0 /ref=sr_1_fkmr1_1 %2Bballs%2Bset& tween numerous f	\$0 ? &th=1&psc=1 teams in the v	No arsity room
	Medicine ball, 9-10 Justification: Remarks:	Requested by Chris T No Data to Display b Amazon https://www.amazon.c ie=UTF8&qid=148817 With access to gym er CSM during the fall wr Requested by Chris T No Data to Display	igno 4 com/Champior 3426&sr=8-1- quipment at C e would like to igno 4 com/Champior 3426&sr=8-1- quipment at C e would like to	\$25 h-Sports-Leather- fkmr1&keywords añada eliminated have a set of our \$27 h-Sports-Leather- fkmr1&keywords añada eliminated	\$100 Medicine-Ball/dp =plyo%2Bweigh and the sharing own medicine t \$108 \$108 Medicine-Ball/dp =plyo%2Bweigh and the sharing	0 b/B000KYQ70I/ ted%2Bleather g of facilities be balls for plyo a 0 b/B000KYQ70I/ ted%2Bleather g of facilities be	\$0 /ref=sr_1_fkmr1_1 %2Bballs%2Bset8 itween numerous f nd other training d \$0 /ref=sr_1_fkmr1_1 %2Bballs%2Bset8 itween numerous f	\$0 ? &th=1&psc=1 teams in the v luring practice \$0 ? &th=1&psc=1 teams in the v	No arsity room time. No arsity room

Priority	Description		Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
2017-2018 (Yea	r One) Enhanced								
Medium	BOSU ball trainers		3	\$100	\$300	0	\$0	\$0	No
	Justification:	BOSU SPORT BALA Black/dp/B01C34QSH Used to develop lowe strengthening, import Cañada eliminated, a to have a set of our o Requested by Chris T	KG/ref=sr_1_3 er body stabiliz ant for agility. nd the sharing wn for training	3?s=exercise-and- ing muscles whic also useable for g of facilities betwo	fitness&ie=UTF h are important conditioning and een numerous te	8&qid=1488173 for injury preven strength exerc	3735&sr=1-3&key ntion, as well as b sises. with access	alance muscle to gym equip	ment at
	Remarks:	No Data to Display							
Medium	Aircat drill machine		1	\$3,600	\$3,600	0	\$0	\$0	No
		www.aircatvolleyball. Delivers balls to simu consistent ball to sam Requested by Chris 1	late serve and ne location so						
		No Data to Display	_	•	• • • • •	-	A a	A -	
High	Superbands, 3 1/4" Justification:	Perform Better http://www.performbe Bands are an essenti conditioning workouts Requested by Chris T	al tool for sho s.					\$0 for lower body	No strength and
	Remarks:	No Data to Display							
High	Portable speaker		1	\$300	\$300	0	\$0	\$0	No
	Justification:	https://www.braven.cc A portable and durab current, and stimulatin personal account and Requested by Katie F	le speaker is r ng. The speak I has become	necessary to teach er that is being us	n fitness classes sed currently for	that run outsid			
	Remarks:	No Data to Display							

	Priority	Description		Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
2017	'-2018 (Year	One) Enhanced								
	High	Jump ropes		30	\$8	\$240	0	\$0	\$0	No
		Justification:	https://www.amazon.o _encoding=UTF8&ref Jump ropes are used exercise. The current ropes outside has also Requested by Katie P	RID=B39YV7 EVERY DAY set of jump ro o made them	EGKRX5C4FK3G in fitness 117, 11 opes are over 3 ye	DA 8, and 119 as we ars old (they ne	ell as bootcamp	o (122 and 235) fo	r both warmu	
			No Data to Display							
	High	Sklz Finishing Net		1	\$300	\$300	0	\$0	\$0	No
		Justification: Remarks:	http://www.sklz.com/s Used in team training more likely to score. C increase scoring perc Requested by Katie P No Data to Display	to work on pla Gives players i entages	acement and and	shooting repetiti				
	High	Nike Academy Tear		25	\$35	\$875	0	\$0	\$0	No
	g.:	Justification:	Nike Item# BA5501-064 Students use the back among other things de Requested by Katie P	<pre>kpack as a wa uring practices</pre>	y for transporting	and keeping un				
		Remarks:	No Data to Display							
	High	Slip Not Traction Pa	ad - LG	1	\$100	\$100	0	\$0	\$0	No
		Justification:	http://www.bsnsports. To be used by studen shoe soles with one q Requested by Matt Le	t athletes duri uick action. A	ng all competitive	activity while pla			t, dirt and wax	c build-up from
		Remarks:	No Data to Display							

Prio	rity Description		Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
2017-2018	3 (Year One) Enhanced								
Hig	h SKLZ D-Man Hand	s Up Defender	3	\$65	\$195	0	\$0	\$0	No
	Justification:	BSN Sports http://www.bsnsports.c Student Athletes can in shoot and pass over a perimeter or the bigs a accommodates players get used to squaring o Requested by Matt Lee	mprove in-ga defender, as ire developin s of various h ff against opp	me skills with a life the mannequin fe g their positioning neights. Telescopie	e-size mannequ eatures a hands- and footwork or c pole adjusts th	-up defensive point the blocks, the	osition. Whether g mannequin's adj	juards are pra ustable desig	acticing on the
	Remarks:	No Data to Display							
Hig	h Lockerstool		1	\$62	\$62	0	\$0	\$0	No
	Justification	BSN Sports http://www.bsnsports.c Padded vinyl seat used 30 games per year) Requested by Matt Lee	d during in-ga		Folds for easy s	torage and can	be used when tra	veling to away	y games (25-
	Remarks:	No Data to Display							
Hig	h Portable Basketbal	Board	1	\$42	\$42	0	\$0	\$0	No
	Justification:	BSN Sports http://www.bsnsports.c Used for in-game instri surface that can be use Requested by Matt Lee	uction (25-30 ed to flash pl	games plus pract	tice). Full-court of		side, the other sid	de is a blank,	dry erase
	Remarks:	No Data to Display							
Hig	h Robic OSLO Count	Down Timer	1	\$22	\$22	0	\$0	\$0	No
		BSN Sports http://www.bsnsports.c Stop Watch will provide end-game situations, t Requested by Matt Lee	e timing and raining, and o	pace of practice for			udent athletes dur	ing conditioni	ng, simulating
	Remarks:	No Data to Display							
Hig	gh Scorebook		3	\$9	\$27	0	\$0	\$0	No
	Justification:	BSN Sports http://www.bsnsports.c Mandated scorebook f Requested by Matt Lee	or all home g		ook				
	Remarks:	No Data to Display							

Priority	Description		Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
2017-2018 (Year	^r One) Enhanced								
High	Dribble Specs		20	\$6	\$120	0	\$0	\$0	No
	Justification:	BSN Sports http://www.bsnsports Training for student a is blocked during pos interfere with shootin Requested by Matt L	athletes to encossessions, allo g, players can	courage athletes to wing them to focus	s on keeping the	ir head up whil	e handling the bal	I. Since the sp	
	Remarks:	No Data to Display							
High	Whistles		1	\$20	\$20	0	\$0	\$0	No
	Justification:	BSN Sports http://www.bsnsports Instruct the students from a distance to sto Requested by Matt L	within long dis	stances, standing of	out against gym			n can deliver a	a loud blast
	Remarks:	No Data to Display							
High	Wreversible Whiteb	oard	1	\$380	\$380	0	\$0	\$0	No
	Justification:	http://www.bsnsports Due to the limited of Utilizing a rolling whit Requested by Matt L	space at CSM te board will pr	's gym, Men's Bas					nstruction.
Llinh		No Data to Display	4	¢۲	ዮር	0	ድር	¢۵	No
High	Cones		1	\$5	\$5	0	\$0	\$0	No
	Justification:	http://www.bsnsports Ability to provide low in just one trip is esse simple hauling to any Requested by Matt L	-profile cones ential for mark practice or cla	to the gymnasium ing out-of-bounds	, outdoor field or areas, goals and	d separate stat	ions. Cones can b		
	Remarks:	No Data to Display							

Priority	Description		Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
17-2018 (Year	One) Enhanced								
High	Foam Rollers		6	\$30	\$180	0	\$0	\$0	No
	Justification:	BSN Sports http://www.bsnsports The ability to rehabil retention and is cove knotted-muscle trigg Requested by Matt L	itate and perfor ered in a multi-t er-point relief.	rm injury preventa extured thick rubb	per-foam. The te	xtured surface	is great for both m		
	Remarks:	No Data to Display							
High	Pro Power Jumper		1	\$500	\$500	0	\$0	\$0	No
	Justification:	BSN Sports http://www.bsnsports Improve jump height 50" nonslip jumping Requested by Matt L	and reaction ti platform.		rall performance	. Unit includes	resistance tubing,	shoulder harr	ness, 30" x
	Remarks:	No Data to Display							
High	Lateral Resistance	Trainer	6	\$30	\$180	0	\$0	\$0	No
	Justification:	http://www.bsnsports Designed to strength Requested by Matt L	en the muscle		ateral movemen	t, and designed	d to teach athletes	proper techn	ique.
		No Data to Display		•	• • •		• -	• -	
High	Powermax Strength		5	\$45	\$225	0	\$0	\$0	No
	Justification:	BSN Sports http://www.bsnsports Bands add resistanc super strong seamle Requested by Matt L	e to lifting exer ss latex rubber	cises without incr		an also be use	d for assisted pull-	ups and dips.	Made of
	Remarks:	No Data to Display							
High	Powermax Strength	Bands - Heavy	5	\$60	\$300	0	\$0	\$0	No
	Justification:	BSN Sports http://www.bsnsports Bands add resistanc super strong seamle Requested by Matt L	e to lifting exer ss latex rubber	cises without incr		an also be use	d for assisted pull-	ups and dips.	Made of
	Remarks:	No Data to Display							

Priority	Description		Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
2017-2018 (Yea	r One) Enhanced								
	Justification:	https://www.amazon. _encoding=UTF8&red Jump ropes are used current set of jump ro Requested by Matt Le	RID=B39YV7 everyday for pes are only a	EGKRX5C4FK3G conditioning, pract	DA ice, and game p	reparation for b	both warmup and	cardio exercis	
	Remarks:	No Data to Display							
High	Wilson Basketballs		15	\$70	\$1,050	0	\$0	\$0	No
	Justification:	BSN Sports http://www.bsnsports Standards for CCCA/ Requested by Matt Lo	A competition.		Indoor Basketba	all			
	Remarks:	No Data to Display							
High	Titleist Golf Balls		30	\$18	\$540	0	\$0	\$0	No
	Justification:	Dick's Sporting Good https://www.dicksspo Golf Balls for Women Requested by Gavin	rtinggoods.cor 's Varsity Sea			r-generation-15	ttlmdttrsftgbl/15ttl	mdttrsftgbl	
	Remarks:	No Data to Display							
High	Golf Bags		10	\$130	\$1,300	0	\$0	\$0	No
	Justification:	World Wide Golf Sho https://www.worldwid Golf Bags for Women Requested by Gavin	egolfshops.co s Varsity Sea		-Stand-Bag/1013	35486/Product			
	Remarks:	No Data to Display							
High	Dozen R100 Rawlir	ngs Baseballs	40	\$77	\$3,080	0	\$0	\$0	No
	Justification:	BSN Sports http://www.bsnsports Replacement for VAF Requested by Tony L	RS/TEAM class						
	Remarks:	No Data to Display							

Priority	Description		Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
2017-2018 (Year	r One) Enhanced								
High	Champro Base Set		1	\$132	\$132	0	\$0	\$0	No
	ł	Champro Sports https://shop.champr Replacement for VA Requested by Tony	RS/TEAM class			aspx			
	Remarks:	No Data to Display							
High	Louisville Slugger Ba	at	6	\$300	\$1,800	0	\$0	\$0	No
	I	BSN Sports http://www.bsnsport Replacement for VA Requested by Tony	RS/TEAM class		ΑT				
	Remarks: 1	No Data to Display							
High	Batting Helmets		20	\$38	\$760	0	\$0	\$0	No
	I	BSN Sports http://www.bsnsport Replacement for VA Requested by Tony	RS/TEAM class			or injury preven	tiveness		
	Remarks:	No Data to Display							
		Тс	tal (Year One)	Enhanced Cost	\$30,846			\$0	
			Total	Year One) Cost	\$30,846			\$0	

	dget Account: Biological Sciences a Sciences		Leau Faculty, BIC	iogical and meal	ui	Account Numbe	a. 20040	
	GL Code: Supply Supplies (Ite	ms less than \$5,000)				Budget Amun	nt: \$6,491	
Priority	Description	Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroo
'-2018 (Yea	r One) Enhanced							
High	Human cadaver	1	\$3,000	\$3,000	0	\$0	\$0	No
	Program at U their use on a	ents of allied health pro CSF is the supplier of more rapid timeframe Il need this replaceme oug Hirzel	ograms such as r our cadavers. T than in previous	ursing, radiologi he UC Regents a	ic technology, s are requiring in	surgical assisting a stitutions that use	and others. Th cadavers to c	ne Willed B ycle throug
	Remarks: No Data to Disp	play						
High	Epoxy-coated test tube racks	3	\$562	\$1,686	0	\$0	\$0	No
	Justification: Test tube racl							
	to be no place Requestor: A Course: BIOL	e to attach here.				se. An estimate is	available but	there seen
	to be no place Requestor: A Course: BIOL	e to attach here. ngela Gibson . 230, BIOL 240 .com/store/catalog/pro				se. An estimate is	available but	there seen
High	to be no place Requestor: Ar Course: BIOL https://us.vwr.	e to attach here. ngela Gibson . 230, BIOL 240 .com/store/catalog/pro				se. An estimate is \$0	available but \$0	there seem
High	to be no place Requestor: An Course: BIOL https://us.vwr. Remarks: No Data to Disp Lockable microscope cabinet Justification: Microscopes a within room 1 across rough significant cos Requestor: An Class: BIOL 2 https://www.g infoParam.ca	e to attach here. ngela Gibson . 230, BIOL 240 .com/store/catalog/pro play 1 are used by some inst 6-05. Since we lack s asphalt to the lab. Su st to repair. ngela Gibson 260 lobalindustrial.com/p/s mpaignId=T9F&%7BI	500 \$500 tructors in Humar such a storage co uch transport incre storage/cabinets/ purl%7D&vt-	_number=60941 \$500 • Physiology (BIC ntainer, the scop eases the risk of heavy-duty/14-ga	-594 0 DL 260) course bes must be tra damage and lo auge-heavy-du	\$0 and need to be sensported down the bass of calibration - ty-36-w-x-18-d-x-7	\$0 ecured in a loc e elevator thre both of which	No cked cabine e floors an
High	to be no place Requestor: An Course: BIOL https://us.vwr. Remarks: No Data to Disp Lockable microscope cabinet Justification: Microscopes a within room 1 across rough significant cos Requestor: An Class: BIOL 2 https://www.g infoParam.ca	e to attach here. ngela Gibson . 230, BIOL 240 .com/store/catalog/pro play 1 are used by some ins 6-05. Since we lack s asphalt to the lab. Su st to repair. ngela Gibson 260 lobalindustrial.com/p/ mpaignId=T9F&%7Bl gclid=EAlalQobChMlq	500 \$500 tructors in Humar such a storage co uch transport incre storage/cabinets/ purl%7D&vt-	_number=60941 \$500 • Physiology (BIC ntainer, the scop eases the risk of heavy-duty/14-ga	-594 0 DL 260) course bes must be tra damage and lo auge-heavy-du	\$0 and need to be sensported down the bass of calibration - ty-36-w-x-18-d-x-7	\$0 ecured in a loc e elevator thre both of which	No cked cabine e floors an

Print Date: Monday, April 30, 2018

Priority	Description	Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
017-2018 (Year	One) Enhanced							
	in pairs, we r years and no	d partially compensate need 17 specimens of e w need only 1-3 of the e of all bones being rec boug Hirzel	for loss of retenti each bone that is following bones t	on over the first being studied.	third of the ser Ne have gradu	mester. Since stud	lents learn beating our invent	at by working ory over the
	https://us.vw/ 1 maxilla @ 9 https://us.vw/ 1 sphenoid @ https://us.vw/ 3 tibia @ \$27 https://www.a 3 fibula @ \$1 https://www.a 3 humerus @ https://www.a 1 ulna @ \$20 https://www.a 2 radius @ 2	r.com/store/product/88 \$ \$82.50 r.com/store/product/88 a3bs.com/tibia-101936 a3bs.com/fibula-101936 \$ \$27 a3bs.com/humerus-101 a3bs.com/ulna-101937	77608/somso-ind 77608/somso-ind 3-a353-3b-scienti 64-a354-3b-scien 19372-a451-3b-sc 3-a452-3b-scienti	ividual-human-b ividual-human-b fic,p_890_2739 tific,p_890_2740 sientific,p_889_2 fic,p_889_2740	ones ones 5.html 02.html 27409.html 1.html			
	Remarks: No Data to Dis	splay						
Medium	Snorkels for dive reflex lab	20	\$7	\$140	0	\$0	\$0	No
	don't want th Requestor: D Course: BIOI https://www.l gclid=CjwKC QAvD_BwE& adType%5EF	use flexible tubing (no em inhaling water so it oug Hirzel 260 eisurepro.com/p-csbsg AiAqvXTBRBuEiwAE5 kwid=productads-adid PLA	t real snorkels) bu would be much p g/cressi-free-divin 4dcNpgPzXXK3il	it some students referred to purc ng-gringo-black- F6QZPkXP8rzO	s find it difficult hase real snor snorkel? 5zBn8c2twTfzl	to make a good se kels. Cheap ones b8A-8ygvuTTvTFlf	eal with their n can be around zcRoCbY0	nouths. We I \$6-10.
	Remarks: No Data to Dis	spiay						
High	Meiosis cell division model	1	\$640	\$640	0	\$0	\$0	No

Priority	Description	•	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
2017-2018 (Yea	ar One) Enhanced							
	Justification:	Our existing model is decades old and Requestor: Nathan Staples Course: BIOL 230, 110 https://www.carolina.com/cell-models/3 Less expensive as of today:		·	Ū	ss than instructive	. We need a	replacement.
		https://www.a3bs.com/meiosis-model-	1013869-r021-:	3b-scientific,p_2	48_25074.html			
	Remarks:	No Data to Display						
		Total (Year One) En	hanced Cost	\$6,491			\$0	
		Total (Ye	ar One) Cost	\$6,491			\$0	

Budget Account: Chemistry - Lead Faculty, Chemistry

Account Number: 23050

	GL Code: Equipm Equipment (Items	s over \$5,000)				Budget Amun	t: \$51,500	
Priority	Description	Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
)17-2018 (Yea	r One) Enhanced							
High	nuclear magnetic resonance (NMR) spectrometer air pump and communication upgrade	1	\$19,000	\$19,000	0	\$0	\$0	Yes
	Justification: Anasazi Instrument purchasing the air p descriptions of the AS-1 Air Source The new AS-1 air s controlled. The key with an integrated r USB Upgrade For many years, the computers are no le upgrade the spectre The USB upgrade the	pump and USB pump and USB to the newly de membrane dryer e communicatio onger compatibl ometer interface	upgrade from ther upgrade. ed to eliminate spi signed pump is th which dries the s n interface betwee e with these PCI o to USB.	n. There are no inning problems le balanced desi pinner air to a de en the PC and sp cards, so in orde	catalog numbe in a smaller, qu gn of the pump ew-point of -10 pectrometer of r to replace cus	rs for these items. uieter package, wh with the airflow d °C. Drier air mear the Eft was based stomers' current co	I am including hich is electror emand of the ns more reliab on two PCI ca omputer, it is r	g their nically spinner along le spinning. ards. Newer
	Remarks: No Data to Display							
Medium	Pipette 1-10 mL 1 channel	20	\$350	\$7,000	0	\$0	\$0	Yes
	Justification: VWR catalog numb acids, serums, and beyond a balance a volume alteration. I buttons for dispens adjustable tip ejecto Autoclavable to 12 CSI	other liquids, ar and distilled wate Dispensing is ac ing and tip eject or allows the use	nd for gel-sequence er. Adjust volume complished with a ion reduce dead ve of most pipet tip	cing applications setting from hig a single plunger volume and prev s. The stainless	 Easy swift-se h to low in one stroke. A differe ent accidental steel and PVD 	t calibration requir click. Setting where entiated overshoot de-tipping. The glo F plunger assemb	es no addition el locks elimin function and ove-friendly Ju ly is chemicall	al tools ate accidenta separate pusl stTip™ y resistant.
	Remarks: No Data to Display							

Priority	Description	Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
2017-2018 (Yea	r One) Enhanced							
Low	Lambda Bio UV/Vis with printer	3	\$8,500	\$25,500	0	\$0	\$0	Yes
	Instant answers Large, easy-to-re Maintenance-free Superb stability	ers deliver impress ad LCD screen e for continuous up	ive performance i time				XLS and Bio	UV/Vis
	No moving parts,		enance, and no co					
		Total (Year One)	Enhanced Cost	\$51,500			\$0	
		Total (Year One) Cost	\$51,500			\$0	

Budget Account: Chemistry - Lead Faculty, Chemistry

	GL Code: Supply	Supplies (Items less t	han \$5,000)				Budget Amun	t: \$13,500	
Priority	Description		Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
2017-2018 (Year	One) Enhanced								
High	pH electrodes for V	ernier	20	\$95	\$1,900	0	\$0	\$0	Yes
	Justification:	The pH probes will rep part of both chemistry probes would be an ac from VWR catalog nur	192, 220 and ccessory to th	410. So this equi e handheld Verni	pment will be us er lab quests wh	sed by both scie	ence and health so have. The pH pro	cience student	s, These
	Remarks:	No Data to Display							
High	Water baths		6	\$700	\$4,200	0	\$0	\$0	Yes
	Justification:	10 L 120V VWR water studied endothermic re				for free and tax	is included. And	now to end wi	th a joke. I
	Remarks:	No Data to Display							
Medium	Analytical Balances		3	\$1,600	\$4,800	0	\$0	\$0	Yes
	Justification:	VWR Balance Analytic repeatability and accullight.							
	Remarks:	No Data to Display							
Medium	Chemical Polarimet	er plus extra cells	4	\$650	\$2,600	0	\$0	\$0	Yes
		From VWR 4 of #4701 long wait for cells to be chiral properties of opt that uses a 589 nm LE in the presence of an o	e available I h ically active s D, a fixed po	ave lumped the p amples without cl larizer, and a mar	rice together for nemically modify nually rotated po	the unit price. ving or destroyination destroying the second seco	The Polarimeter cannot the sample. This the sample. This the sample is the sample is the same the same same same same same same same sam	an be used to is is a vertical on of plane-po	measure polarimeter plarized light
	Reinarks:	No Data to Display	(Voor One)	Enhanced Cost	¢12 500			0.9	
		Iota	. ,	Enhanced Cost	\$13,500			\$0	

Total (Year One) Cost\$13,500

\$0

Budget Account: Counseling - Lead Faculty, Counseling

Account Number: 30600

Budget Amunt: \$6,741

GL Code: Supply Supplies (Items less than \$5,000)

		3 1033 than \$5,000)				Budget Annun	τ. ψ0,/ + Ι	
Priority	Description	Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroon
'-2018 (Yea	r One) Enhanced							
High	CRER - MicroSkills Cards	25	\$13	\$325	0	\$0	\$0	No
	currently has or approximately 3 students. Skills	a.onlybusiness.com f Skills Cards (72 c aly 20 MicroSkills se 30-35 students in ea assessment is an as as they take the a	ards/set) that prov ets and 5 sets hav ach class, more ca important compon	e cards missing. Ird sets need to ent of the caree	With four CRE be on hand to s r assessment p	ER 137 classes ea supply this career a rocess. The cards	ich semester, assessment to s encourage s	and ool to
	Remarks: No Data to Displa	ау						
High	CRER Instructional PR: Strong Inte Inventory User's Guide	rest 4	\$35	\$140	0	\$0	\$0	No
	results. These	Inventory results of user's guide are a r nent tools. Because ay	more reliable and t	ested interpreta	tion tool, publis	hed by the same of	company that	supplies the
High	CRER Instructional PR: Intro. to Ty Type in College, Type in Careers Publications	pe, 12	\$18	\$216	0	\$0	\$0	No
	Justification: CRER Instruction Request is to pu Type in Careers	urchase 4 each of t	0 /		, .			
		e CRER instructors blished by Consulti						
		blished by Consulti						

Priority	Description	Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
	r One) Enhanced	-						
	•Two-tier •Holds u •Comes •Sits on t •Free shi •Sturdy a •Sets up •Accomn	e converter fits most cubic design: upper display sup to to 35 lbs (15.8 kg) preassembled and ready top of existing desk pping to the lower 48 stat and stable even when fully in minutes – no tools, no hodates people 6' and und priner 36® 36" L x 33 1/2"	rface, lower keybo to use es v extended downtime der					
	Remarks: No Data to	o Display						
High	VARIDESK - Dual Monitor Ar Motion Spring Dual	m - Full- 6	\$195	\$1,170	0	\$0	\$0	No
	with mos monitor a	your monitor wherever yo t of our sit-stand desk mo arms are easy to install an SK sit-stand solutions incl	dels and each are id adapt seamless	fully articulating, ly with your works	featuring a ten space. Includes	sion adjustment f s universal desk c	or effortless m lamp, compat	ovement. Ou
	Remarks: No Data to	o Display						
High	VARIDESK-Standing Desk A Comfort Floor Mat - Mat 36	nti-Fatigue 6	\$60	\$360	0	\$0	\$0	No
	high-den •5/8" (1.5 •Non-slip	ble anti-fatigue mat cushi sity core provides long-las 5 cm) thick core bottom edges that won't curl						: floor mat's
	Remarks: No Data to	o Display						

Priority	Description	Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
017-2018 (Yea	r One) Enhanced							
High	HoverCam Solo 8 Document Camera	3	\$371	\$1,113	0	\$0	\$0	No
	Justification: https://www.thehover Item model number: Description: Allows u Image Sensor Size: 0 Image Sensor Type: Effective Camera Re Video Formats: MJP Focal Length: 2 mm	HCS8+ ser to capture).31" CMOS solution: 8 Me	and share docum	ents via video c	onferencing so	ftware		
	Remarks: No Data to Display							
High	Bose wireless headphones	3	\$149	\$447	0	\$0	\$0	No
	Justification: https://www.bose.com item number: 76152 With no wires in the w designed for comfort Connect to your devi and take calls. With t sweat and weather re headphones; Stay He Remarks: No Data to Display	9-0010 and stability. / ce easily with he Bose Conn esistant and ha	and Sport wireless A soft silicone mate Bluetooth and NFC lect app, controllin ave a lithium-ion ba	headphones ke erial and unique C pairing, and us g and switching attery that delive	ep you moving shape provide se the inline mi between multip	with powerful auc a secure fit that s c and remote to co ble devices is easy	tays put and f ontrol volume, /. These head	eels good. skip tracks phones are
	Tot	al (Year One)	Enhanced Cost	\$6,741			\$0	
		Total	(Year One) Cost	\$6,741			\$0	

Buc	dget Account: Engineeri	ng - Lead Faculty, E	Engineering an	d CS			Account Numbe	r: 23080	
	GL Code: Supply S	Supplies (Items less	than \$5,000)				Budget Amun	t: \$3,240	
Priority	Description		Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
2017-2018 (Year	One) Enhanced								
High	MatLab software licens	ses	90	\$7	\$630	0	\$0	\$0	Yes
		atLab Software Mai ymbolic Math Toolbo							
	Remarks: No	o Data to Display							
High	SolidWorks		1	\$2,400	\$2,400	0	\$0	\$0	Yes
		olidWorks Education to 60 classroom se		ubscription - Rene	wal				
	Remarks: No	o Data to Display							
High	NetSupport School So	ftware	30	\$7	\$210	0	\$0	\$0	Yes
	Justification: Pr	roduct ID NSS100M	AIN NetSuppo	ort School Annual	Maintenance Pl	an			
	Remarks: No	o Data to Display							
		Tota	al (Year One)	Enhanced Cost	\$3,240			\$0	
			Total (Year One) Cost	\$3,240			\$0	

Bu	dget Account: Music - Lead Faculty, Music	C		Account Number: 22140						
	GL Code: Supply Supplies (Items les	ss than \$5,000)			Budget Amunt: \$869					
Priority	Description	Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom		
017-2018 (Yeaı	r One) Enhanced									
Medium	Yamaha BB1 Padded Piano Bench - Black	11	\$79	\$869	0	\$0	\$0	No		
	Justification: Yamaha BB1 Padd	ed Piano Bench	n - Black							
	These are mostly n	ew 3 are repla	acements.							
	Remarks: No Data to Display									
	Тс	otal (Year One)	Enhanced Cost	\$869			\$0			
		Total	(Year One) Cost	\$869			\$0			

		5									
Bue	dget Account: Economics - Lead Fa	aculty, Social Sciences				Account Numbe	r: 21040				
	GL Code: Supply Supplies (Ite	ems less than \$5,000)	han \$5,000)				Budget Amunt: \$45				
Priority	Description	Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom			
017-2018 (Year	One) Enhanced										
High	Pizza for 100 Students	5	\$9	\$45	0	\$0	\$0	Yes			
	Justification: SAMPLE RE	SOURCE REQUEST -	We will purchase	e 5 pizza from C	ostco, which co	ost \$9 each.					
	Remarks: No Data to Dis	splay									
		Total (Year One)	Enhanced Cost	\$45			\$0				
		Total (Year One) Cost	\$45			\$0				
			-								

Budget Account: Theatre Arts - Lead Faculty, Theatre Arts Account Number: 22080 GL Code: ConSvc Contract Services Budget Amunt: \$1 Approved Cost Requested Requested Requested Approved Approved **Cost Per Item Total Cost** Per Item **Total Cost** Priority Description Quantity Quantity Classroom 2017-2018 (Year One) Enhanced 1 \$1 \$1 0 \$0 \$0 High Repair/Service of Fly/Rigging system in No Main Theater Justification: The current condition of the fly system poses significant health and safety risks to District employees as well as students when in operation. The usage of the Main Theater has only increased since the inspection done in 2014: both by public rentals and relocation of classes to Main Stage (due to Bldg. 1 demolition/construction project). There is no safety issue or danger of being on the stage or in the Main Theater when the fly/rigging system is NOT in use. It is only when the system is being used that there are safety issues. The attached inspection report outlines different combinations of service/repair/replacement packages based on budgetary impact. They are classified as "Required, Recommended, and Suggested." Per inspection report completed in 2014, system was estimated to be 45 years old. Per inspection report completed in 2014, cost to service and repair fly system is estimated at \$189.550.00 (tax excluded) for "required repairs" package with a contingency of an additional \$29.475 (3 x \$9825.00) should it be deemed necessary (page 15-16). (Not all issues are present during inspection and may present themselves during actual repair/servicing). Alternatively, the entire system can be replaced with a modern, motorized system at an estimated cost of \$447,488.00 (per 2014 inspection report). This is a safety/health issue for anyone that is on stage during operation of fly system, and/or the employee operating it. Please see attached inspection report. Remarks: No Data to Display \$1 Total (Year One) Enhanced Cost \$0 \$0

\$1 Total (Year One) Cost

Budget Account: Assessment, Orientation & Registration - Lead Staff, Assessment, Orientation & Account Number: 30300 Registration

GL Code: ConSvc Contract Services

						5	· · · · · · · · · · · · ·	
Priority	Description	Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroor
17-2018 (Yea	r One) Enhanced							
High	Scanning and Indexing of old student records	1	\$90,800	\$90,800	0	\$0	\$0	No
	Justification: Prep/Scanning/Ind	exing 160 Box	kes @ \$250.00 pe	r box \$40,000	.00			
	(Price is based on	(Price is based on each box containing roughly 2,200 p						
	Project Setup, Tes	ing and FTP Up	load Fee	\$ 1,500.	00			
	Transportation of M	laterial		\$ 200.	00			
	Microfilm Scanning			\$ 4,000	.00			
	Aperture Card Sca	nning (Estimated	d 82,000 cards)	\$45,100	.00			
	Total			\$90,800	.00			
	Remarks: No Data to Display							
	Т	otal (Year One)	Enhanced Cost	\$90,800			\$0	
		Total	(Year One) Cost	\$90,800			\$0	

Budget Amunt: \$90,800

.

Bu	dget Account: Assessment, Orientatio Registration					Account Numbe			
	GL Code: Equipm Equipment (Ite	ems over \$5,000)				Budget Amunt: \$1,445			
Priority	Description	Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroo	
-2018 (Year	r One) Enhanced								
High	Ergonoimic headsets	5	\$289	\$1,445	0	\$0	\$0	No	
	Justification: Vendor								
	MetrolineDirect 2250 Meijer Dri Troy, MI 48084	ve							
	ITEM								
	MTL-DECT-HD MITEL CORDLI SERIAL NO. 1V	ESS HEADSET AND	MODULE						
	Price \$289.00 Shipping \$9.95	Each Unit							
	Remarks: No Data to Displa	y							
		Total (Year One) E	Enhanced Cost	\$1,445			\$0		
		Total (Year One) Cost	\$1,445			\$0		

Budget Account: SparkPoint, Financial Aid and Financial Literacy - Lead Staff, SparkPoint, Financial Aid & Literacy

Account Number: 30500

	GL Code: ConSvc Contract Services	6				Budget Amun	t: \$9,940	
Priority	Description	Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroon
2018 (Yea	r One) Enhanced							
High	Dynamic Forms - Financial Aid (all campuses)	1	\$7,100	\$7,100	0	\$0	\$0	Yes
	Justification: Vendor: NextGen	Neb Solutions, I	LC					
	Product: Dynamic F \$500 Installation Fe	•						
	Annual Fee: \$6,600 Year 2 and Year 3)						
	Annual Fee: \$6,600) - \$6,600/year on for unlimited	- all campuses/all	departments - S	\$24,500/year -	year one includes	\$500 set-up fe	ee.
	Annual Fee: \$6,600 Year 2 and Year 3 NOTE: Also an opti) - \$6,600/year on for unlimited	- all campuses/all	departments - S	\$24,500/year -	year one includes	\$500 set-up fe	ee.

Priority	Description	Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroo
17-2018 (Yea	r One) Enhanced							
	Justification:	Total Cost may be up to \$2840.						
		1						
		SparkPoint Financial Coaching Off	ice					
		Artwork Install 2 @ 4.5" letter height .25" o SparkPoint Dimensional Acrylic L \$650.96						
		Installation - (May be saved if Fac \$507.86	cilities Team install	s artwork)				
		Total: \$1158.82 + tax						
		2 SparkPoint Financial Literacy Lab						
		Artwork Install x2 SparkPoint Dimensiona	I Acrylic Logos 1 @	\$507.86				
		Installation - (May be saved if Fac \$703.32	cilities Team install	s artwork)				
		Total: \$1682.16 + tax						
		Grand Total for acrylic si	 gnage: = \$2840.98	3				
		3. Way finding signage for campus	: Cost TBD					
		4. Adding room number to Bldg 9, Financial Literacy Lab and guests	Floor 1 Staff Lunch are always confuse	room. It says t ed. Cost TBD	hat it is 9-123 b	out that is the same	e room numbe	er as the
	Remarks:	No Data to Display						
			Enhanced Cost	\$9,940			\$0	
		Total	(Year One) Cost	\$9,940			\$0	

Account Number: 30500

Budget Account: SparkPoint, Financial Aid and Financial Literacy - Lead Staff, SparkPoint, Financial Aid & Literacy

	GL Code: Equipm Equipmer	nt (Items over \$5,000)	Items over \$5,000)			Budget Amunt: \$10				
Priority	Description	Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom		
017-2018 (Yea	r One) Enhanced									
High	test	1	\$10	\$10	0	\$0	\$0	No		
	Justification:									
	Remarks: No Data to D	Display								
		Total (Year One)	Enhanced Cost	\$10			\$0			
		Total ((Year One) Cost	\$10			\$0			

Budget Account: SparkPoint, Financial Aid and Financial Literacy - Lead Staff, SparkPoint, Account Number: 30500 Financial Aid & Literacy

GL Code: Facili Facilities									
Priority	Description		Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroon
7-2018 (Year	[·] One) Enhanced								
High	SparkPoint Financia	Coaching Office	1	\$1	\$1	0	\$0	\$0	No
	Justification:	TBD based on existi	ng resources ir	n new room / furnis	shings/ configura	ation			
	Remarks:	No Data to Display							
High	Signage for Promise	Program	1	\$4,000	\$4,000	0	\$0	\$0	No
		Unknown cost of sig Need signage that d elevator and other lo Using \$4,000 as a p	irects students ocations.					ated signage	in B.5
	Remarks:	No Data to Display							
		То	tal (Year One)	Enhanced Cost	\$4,001			\$0	
			Total	(Year One) Cost	\$4,001			\$0	

	Financial Aid & Literacy	/	-						
	GL Code: ITech Information Tec	hnology (computer,	laptop, printer, etc	c.)	Budget Amunt: \$6,987				
Priority	Description	Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classro	
7-2018 (Yea	^r One) Enhanced								
High	Dell Optiplex 7040 SFF Bundle	1	\$981	\$981	0	\$0	\$0	Yes	
	Dell AC511 So	24" U2417HJ Monit und Bar Black anty - Dell 5 Year Pr 5.24 6.00 /unit: \$902.24 \$78.95	or with Wireless C	Charging Stand	y Onsite				
	Remarks: No Data to Displa	ау							
High	DELL Precision 5510 Notebook (lap	otop) 2	\$3,003	\$6,006	0	\$0	\$0	Yes	
	Targus Meridia	SB-C to VGA p/n 470 n II Topload Carrying anty Dell ProSuppor 55.73 6.00 /unit: \$2,761.73 \$241.65	0-ABNC (3000039 g Case - Fits Lapt	912) ops with Screen	Size Up to 15		720 (3000039	11)	
		y Financial Literacy unctions. Having de							
	Remarks: No Data to Displa	ау							

Budget Account: SparkPoint, Financial Aid and Financial Literacy - Lead Staff, SparkPoint, Financial Aid & Literacy Account Number: 30500

	GL Code: NIPers N	lon-instructional Pe	rsonnel				Budget Amun	t: \$127,545	
Priority	Description		Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
2017-2018 (Yea	r One) Enhanced								
High	Short Term Financial A	Ald Assistant	1	\$35,817	\$35,817	0	\$0	\$0	No
		alary Schedule 6T -) hrs/week x \$22.61				benefits) = \$3	5,817		
	Remarks: No	Data to Display							
High	SparkPoint Coordinato	r 1FTE	1	\$91,728	\$91,728	0	\$0	\$0	No
	Gr	alary Schedule 60 rade 27, Step 1 = \$ otal salary + benefit			,380.96				
	Remarks: No	Data to Display							
		Tot	al (Year One)	Enhanced Cost	\$127,545			\$0	
			Total	(Year One) Cost	\$127,545			\$0	

Budget Account: SparkPoint, Financial Aid and Financial Literacy - Lead Staff, SparkPoint, Financial Aid & Literacy

Account Number: 30500

	GL Code: ProDev Professional De	evelopment				Budget Amun	t: \$13,200	
Priority	Description	Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroon
7-2018 (Year	One) Enhanced							
High	Federal Student Aid (FSA) Training for Financial Aid Professionals	or 2	\$1,900	\$3,800	0	\$0	\$0	No
	Justification: Dates TBD - End Due to funding, v	l of November 201 ve did not send an		A Training				
	program complia	- \$800	lates and hands o	n labs, Federal ι	updates and op	en sessions with s	staff, audits ar	
	Remarks: No Data to Display	,						
High	CCCCO All FA Directors & CCCSFA Annual Training Conference	AA 2	\$900	\$1,800	0	\$0	\$0	No
	Justification: The cost is estim \$225 registration 	fee. Staff attendin						assesses a
	Required CCCC services professi	O Financial Aid Dir onals network, sha aining opportunity	are best practices	meet with CCC	CO, CSAC, De			
		nts in our segment		eadership addre	ss policy, legis	lation, regulation, a		
					ss policy, legis	ation, regulation, a		
High	for serving stude	,		\$2,800	ss policy, legis 0	ation, regulation, a		
High	for serving stude Remarks: No Data to Display Ellucian Live (Banner Technical User	s 1	t.				and other issu	es importar
High	for serving stude Remarks: No Data to Display Ellucian Live (Banner Technical User Conference) Justification: Ellucian Live Anr Ellucian Live – a Conference fee S Hotel - \$200 nigh Airfare/shuttle - o Per Diem – 2 day Banner technical Support Speciali high degree of tr	s 1 nual Conference pprox. \$2,300 - 2,8 \$1,250 nt x 4 nights (appro depends on 2019 lo	t. \$2,800 300 depending on ox. \$800) ocation portant for the ong ge and SMCCCD nt, test, document	\$2,800 airfare bing functional/te	0 echnical trainin ITS. Banner F	\$0 g of Lucy Nolasco inancial Aid is very	in her lead Te complex and	es importar No echnical I requires a

Priority	Description	Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
)17-2018 (Year	One) Enhanced							
High	NASFAA Annual Conference	1	\$1,900	\$1,900	0	\$0	\$0	No
	Justification: National Associ https://www.nas	iation of Student Fin sfaa.org/conference	ancial Aid Admini	strations				
	3.5 days, regist Hotel accommo Airfare \$200 - \$ Conference pro	National Conference ration is generally \$ odations - 3 nights ap 700 depending on lo ovides financial aid p on. Network and pro	500 pprox. \$700 depe ocation rofessionals with	the training reso	ources, political	realities and advo rector to attend.	cacy pathway	s for student
	Remarks: No Data to Displa	ау						
Medium	CASFAA Annual Conference and Trainings	1	\$1,600	\$1,600	0	\$0	\$0	No
	http://www.casf 	ofessionals. It is important aa.org/ Annual Conference 2018 in Palm Spring hts at \$200 (\$600) 3300 gistration – approx.	ortant for at least gs	one staff memb				
	Remarks: No Data to Displa	ау						
High	Professional Development for Finan Coaches - including AFC Certification		\$1,300	\$1,300	0	\$0	\$0	No
	Justification: Vendor: Associ Certification: Ac Option: Self Stu	ccredited Financial C		anning				
	\$50 - Registrati \$575 - AFC boo \$675 - exam \$1300 - Total	on bks and study guide						

Priority	Description	Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
		Total (Year One) E	nhanced Cost	\$13,200			\$0	
		Total (Y	ear One) Cost	\$13,200			\$0	

	Financial Aid & Literacy GL Code: Supply Supplies (Items	less than \$5.000)				Budget Amun	t: \$3.000	
Priority	Description	Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroor
-2018 (Yea	^r One) Enhanced							
High	Augment Financial Aid Supply and Duplicating Budget	1	\$3,000	\$3,000	0	\$0	\$0	No
	Justification: Seeking an addi	tional \$3,000 in ger	neral fund allocation	on so annual bu	dget is \$5,000	on-going.		
	Remarks: No Data to Display	ý						
		Total (Year One)	Enhanced Cost	\$3,000			\$0	

Budget Account: Transfer Center, A2B and University Center - Lead Staff, Transfer, A2B and Univ.	Account Number: 30400
Center	

GL Code: ITech Information Technology (computer, laptop, printer, etc.)

Budget Amunt: \$3,158

Priority	Description	Reque Quar		Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
2017-2018 (Year	One) Enhanced							
High	Computer	2	\$902	\$1,804	0	\$0	\$0	No

Priority	Description	Reque Quan		Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
2017-2018 (Year	^r One) Enhanced								
		Dell OptiPlex 7040 i5, 16GB, p/n 210-AFGk-Bundle-i5 (300 PRICE: \$465.94 Dell OptiPlex 7040 SFF Operating system Windows 7 Professional Engl Processor Intel Core i5-6500 (Quad Cor Memory 16GB (2x8G) 2133MHz DDR Hard drives M.2 256GB SATA Class 20 S Video Card Intel® Integrated Graphics Optical Drive CD-ROM/DVD/ 8x DVD+/-RV Keyboard Dell KB216 Wired Multi-Medi Mouse Dell MS116 Wired Mouse Bla Warranty Dell Limited Hardware Warra Dell UltraSharp 24" U2417H p/n 210-AHIW-Bundle (30000 PRICE: \$192.50 E-WASTE TAX: \$6.00 The Dell AC511 Sound Bar p/n 318-2885-Bundle (300003 PRICE: \$18.35 Extended Warranty Dell 5 Year ProSupport Plus p/n 997-6898 (300003853) PRICE: \$219.45 Sub-total: \$896.24 E-waste Tax: \$6.00 Standard Price/unit: \$902.24	0003881 ish/Frer e, 6MB, 4 Self Enci V 9.5mn a Keybc ack nty Plus IJ Monit 03908) Black 3875)	nch 64bit (Includ , 4T, 3.2GHz, 65 rypting Solid Sta n Optical Disk D bard English Blac s Service	les Windows 10 W)) Ite Drive rive ck Charging Stand				
	Remarke	: No Data to Display							
	Remarks	. No Dala lo Display							

Priority	Description		equested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroo
017-2018 (Yea	[·] One) Enhanced								
Medium	Laptop		1	\$1,354	\$1,354	0	\$0	\$0	No
	Justification	 Dell Latitude E7470 Lapt p/n 210-AETM-i7 (30000 PRICE: \$789.70 E-WASTE TAX: \$5.00 Operating system Windows 7 Professional (Includes Windows 10 Pr Processor Intel Core i7-6600U Proc Memory 16GB (2x8GB) 2133MHz Hard drives M.2 256GB SATA Class LCD Display 35.6cm (14.0") FHD (192 E-Star ENERGY STAR Version Wireless Intel 18260 Tri-Band Wir Cable 	English 64 ro license) cessor Base z DDR4 Me 20 Solid St 20x1080) N 6.1 eless-AC W	oit e, Integrated HD (mory ate Drive on-Touch Anti-GI	Graphics 520 are LCD with Ca				
		Dell Mini DisplayPort(MD Warranty Dell Limited Hardware W							
		Warranty Dell Limited Hardware W Dell Professional 14.1" p/n 460-BBRC (3000038 PRICE: \$28.35	/arranty Plu	is Service					
		Warranty Dell Limited Hardware W Dell Professional 14.1" p/n 460-BBRC (3000038	/arranty Plu Topload Ca 73) Plus Next I	arrying Case	site				
		Warranty Dell Limited Hardware W Dell Professional 14.1" p/n 460-BBRC (3000038 PRICE: \$28.35 Extended Warranty Dell 5 Years ProSupport p/n 804-2269 (30000385 PRICE: \$531.30 Sub-total: \$1,349.35	/arranty Plu Topload Ca 73) Plus Next I	arrying Case	site				
		Warranty Dell Limited Hardware W Dell Professional 14.1" p/n 460-BBRC (3000038 PRICE: \$28.35 Extended Warranty Dell 5 Years ProSupport p/n 804-2269 (30000385 PRICE: \$531.30	/arranty Plu Topload Ca 73) Plus Next I	arrying Case	site				
		Warranty Dell Limited Hardware W Dell Professional 14.1" p/n 460-BBRC (3000038 PRICE: \$28.35 Extended Warranty Dell 5 Years ProSupport p/n 804-2269 (30000385 PRICE: \$531.30 Sub-total: \$1,349.35	/arranty Plu Topload Ca 373) Plus Next I 88)	arrying Case	site				
	Remarks	Warranty Dell Limited Hardware W Dell Professional 14.1" p/n 460-BBRC (3000038 PRICE: \$28.35 Extended Warranty Dell 5 Years ProSupport p/n 804-2269 (30000385 PRICE: \$531.30 Sub-total: \$1,349.35 E-waste Tax: \$5.00	/arranty Plu Topload Ca 373) Plus Next I 88)	arrying Case	site				
	Remarks	Warranty Dell Limited Hardware W Dell Professional 14.1" p/n 460-BBRC (3000038 PRICE: \$28.35 Extended Warranty Dell 5 Years ProSupport p/n 804-2269 (30000385 PRICE: \$531.30 Sub-total: \$1,349.35 E-waste Tax: \$5.00 Standard Price/unit: \$1,3	/arranty Plu Topload Ca 73) Plus Next I 8) 354.35	arrying Case	site \$3,158			\$0	

Bu	idget Account: Wellness Center - Lead St	aff, Wellness			Account Number: 30900					
	GL Code: Facili Facilities			Budget Amunt: \$1						
Priority	Description	Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom		
2017-2018 (Yea	r One) Enhanced									
High	Office re-configuration	1	\$1	\$1	0	\$0	\$0	No		
	Justification:									
	Remarks: No Data to Display									
	1	otal (Year One)	Enhanced Cost	\$1			\$0			
		Total	(Year One) Cost	\$1			\$0			

Bu	udget Account: Wellnes	ss Center - Lead Staff,	Wellness			A	ccount Number	: 30900	
	GL Code: NIPers	Non-instructional Pers	sonnel				Budget Amun	: \$58,809	
Priority	Description		Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
2017-2018 (Yea	r One) Enhanced								
High	PCC-Counselor		1	\$45,417	\$45,417	0	\$0	\$0	No
	Justification:	Counselor Lab Rate, S Counselor: 18hrs/wk fo				3 \$45,417.25			
		No Data to Display			·		^	A A	
High	Peer Educator		1	\$13,392	\$13,392	0	\$0	\$0	No
	Justification:	Peer Mentor/Educator	Level C, Step	1 Rate: \$15.50	\$12,400.00	Benefits:\$992.00	Total: \$13,392.0	00	
		Peer Mentor: 5hrs/wk	for 32 weeks (1	6 weeks/semest	er)				
	Remarks:	No Data to Display							
		Tota	l (Year One) E	nhanced Cost	\$58,809			\$0	
			Total (Y	ear One) Cost	\$58,809			\$0	

Bu	dget Account: Wellness Center - Lead S	Staff, Wellness				Account Numbe	r: 30900	
	GL Code: Supply Supplies (Items	less than \$5,000)				Budget Amun	t: \$3,940	
Priority	Description	Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
2017-2018 (Yea	r One) Enhanced							
High	2GB Echo Smartpen	20	\$179	\$3,580	0	\$0	\$0	No
	Justification: Alternative media	a-2GB Echo Smart	pen					
	Remarks: No Data to Display							
High	Single Subject Notebook, 4-Pack (Series 5-8)	15	\$24	\$360	0	\$0	\$0	No
	Justification: Single Subject N	otebook, 4-Pack (S	Series 5-8)					
	Remarks: No Data to Display							
		Total (Year One)	Enhanced Cost	\$3,940			\$0	
		Total	(Year One) Cost	\$3,940			\$0	

Bud	get Account: Administr	ative Services - Marquez,	Michelle	e			Account Numbe	r: 40000	
	GL Code: Supply	Supplies (Items less than \$	5,000)		Budget Amunt: \$1,30				
y	Description	Requi Qua	ested ntity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom
Year	One) Enhanced								
	Front counter chairs		2	\$500	\$1,000	0	\$0	\$0	No
	m pa ai fro	he Cashiers' office facilitate hanagement. Some of our s arty billing for student enro nd deposits for college eve ont counter. The existing c	services Ilment f nts, ma hairs ar	s to support studen ees, parking (park indated cost claim re more than 10 ye	nts and college king permits, pa is, and ASCC b ears old and not	operations inclu rking meter rev ookkeeping. We t functioning pro	udes: Processing s enue), check disbu e request replacen operly.	student payme ursements, ca nent office cha	ents, third- sh handling airs for our
		his requests supports of 17		0					

includes contacting students with late payments via phone call, email, and direct mailings in order to reduce the number of students dropped for non-payment. Chairs are necessary for us to complete our work.

Chair will be purchased through facilities.

High	Replacement shredder	1	\$300	\$300	0	\$0	\$0	No

Justification: The Cashiers' office facilitates the college's day-to-day student financial transactions and is responsible for student account management. Some of our services to support students and college operations includes: Processing student payments, thirdparty billing for student enrollment fees, parking (parking permits, parking meter revenue), check disbursements, cash handling and deposits for college events, mandated cost claims, and ASCC bookkeeping. We request a replacement shredder for our front counter. The existing shredder is more than 10 years old and not functioning properly. We have tried to fix the shredder multiple times but it is now beyond repair.

This requests supports our 17/18 program review. The cashiers' office is responsible for processing student fees and other transactions with sensitive documents. We are required to shred all sensitive documents that are not subject to records retention requirements. A working shredder is necessary for us to comply with regulations.

Office Depot shredder: https://www.officedepot.com/a/products/541815/Fellowes-Powershred-99Ci-100percent-Jam-Proof/

Remarks: No Data to Display		
Total (Year One) Enhanced Cost	\$1,300	\$0
Total (Year One) Cost	\$1,300	\$0

Remarks: No Data to Display

Priority

High

2017-2018 (Year One) Enhanced

Bue	dget Account: Marketing/College Commur		Account Number: 12000								
GL Code: ITech Information Technology (computer, laptop, printer, etc.)						Budget Amunt: \$1					
Priority	Description	Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom			
-2018 (Year	r One) Enhanced										
High	Large TV screen to display marketing and web projects in office.	1	\$1	\$1	0	\$0	\$0	No			
	Justification: Large TV screen in Director's office to clearly and easily marketing projects.										
	Remarks: No Data to Display										
	Тс	otal (Year One)	Enhanced Cost	\$1			\$0				
		Total	(Year One) Cost	\$1			\$0				

	5							
dget Account: Marketing/College Commur		Account Number: 12000						
GL Code: Supply Supplies (Items les	s less than \$5,000)			Budget Amunt: \$2,600				
Description	Requested Quantity	Requested Cost Per Item	Requested Total Cost	Approved Quantity	Approved Cost Per Item	Approved Total Cost	Classroom	
r One) Enhanced								
Office Chair	2	\$600	\$1,200	0	\$0	\$0	No	
Justification: Office chair for better lumbar support for Jose Garcia & Michael Ryan.								
Remarks: No Data to Display								
New Commencement Pole Banners	1	\$1,400	\$1,400	0	\$0	\$0	No	
Justification: New pole banners to	New pole banners to display on campus for commencement.							
Remarks: No Data to Display								
Тс	otal (Year One)	Enhanced Cost	\$2,600			\$0		
	Total	(Year One) Cost	\$2,600			\$0		
	GL Code: Supply Supplies (Items less Description One) Enhanced Office Chair Justification: Office chair for bette Remarks: No Data to Display New Commencement Pole Banners Justification: New pole banners to Remarks: No Data to Display	dget Account: Marketing/College Communications - Rodri GL Code: Supply Supplies (Items less than \$5,000) Description Requested Quantity One) Enhanced Quantity Office Chair 2 Justification: Office chair for better lumbar suppor Remarks: No Data to Display New Commencement Pole Banners 1 Justification: New pole banners to display on car Remarks: No Data to Display	dget Account: Marketing/College Communications - Rodriguez, MeganGL Code: SupplySupplies (Items less than \$5,000)DescriptionRequested QuantityRequested Cost Per ItemOne) Enhanced2\$600Office Chair2\$600Justification:Office chair for better lumbar support for Jose Garcia Remarks:No Data to DisplayNew Commencement Pole Banners1\$1,400Justification:New pole banners to display on campus for comment	dget Account: Marketing/College Communications - Rodriguez, MeganGL Code: SupplySupplies (Items less than \$5,000)DescriptionRequested QuantityRequested Cost Per ItemRequested Total CostOne) Enhanced2\$600\$1,200Office Chair2\$600\$1,200Justification:Office chair for better lumbar support for Jose Garcia & Michael Ryar Remarks:No Data to DisplayNew Commencement Pole Banners1\$1,400\$1,400Justification:New pole banners to display on campus for commencement. Remarks:No Data to Display\$2,600	dget Account: Marketing/College Communications - Rodriguez, MeganGL Code: SupplySupplies (Items less than \$5,000)DescriptionRequested QuantityRequested Cost Per ItemRequested Total CostApproved QuantityOne) Enhanced2\$600\$1,2000Office Chair2\$600\$1,2000Justification:Office chair for better lumbar support for Jose Garcia & Michael Ryan. Remarks:No Data to DisplayVNew Commencement Pole Banners1\$1,400\$1,4000Justification:New pole banners to display on campus for commencement. New Dota to DisplayTotal to Display500Total (Year One) Enhanced Cost\$2,600	Account: Marketing/College Communications - Rodriguez, Megan Account Number GL Code: Supplies (Items less than \$5,000) Budget Amun Description Requested Quantity Requested Cost Per Item Approved Total Cost Approved Quantity Approved Cost Per Item One) Enhanced 2 \$600 \$1,200 0 \$0 Office Chair Office chair for better lumbar support for Jose Garcia & Michael Ryan. Remarks: No Data to Display 1 \$1,400 \$1,400 0 \$0 New Commencement Pole Banners to 1 \$1,400 \$1,400 0 \$0 \$0 Justification: New pole banners to display on campus for commencement. Remarks: No Data to Display \$1,400 \$1,400 \$1,400 \$0 \$0 Statification: New pole banners to display on campus for commencement. Total (Year One) Enhanced Cost \$2,600 \$2,600 \$1	Account: Marketing/College Communications - Rodriguez, Megan Account Number: 12000 GL Code: Supply Supplies (Items less than \$5,000) Budget Amunt: \$2,600 Description Requested Quantity Requested Cost Per Item Requested Total Cost Approved Quantity Approved Cost Per Item Approved Total Cost One) Enhanced 2 \$600 \$1,200 0 \$0 \$0 \$0 Office Chair 2 \$600 \$1,200 0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0 \$0	